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The profit from the sale of a certain appliance increases, though not proportionally, with the number of units sold. Did the profit exceed $4 million on sales of 380,000 units?

(1)The profit exceeded $2 million on sales of 200,000 units.

(2)The profit exceeded $5 million on sales of 350,000 units.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.
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If a and b are positive integers, is % < % ?

(1)% < 0.818

% >1.223

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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On a certain date, Hannah invested $5,000 at x percent simple annual interest and a different amount at y percent simple annual interest. What amount did Hannah invest at
y percent simple annual interest?

(1)The total amount of interest earned by Hannah's due investments in one year was $900.

(2)Hannah invested the $5,000 at 6 percent simple annual interest.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.
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How many people in a group of 50 own neither a fax machine nor a laser printer?
(1) The total number of people in the group who own a fax machine or a laser printer or both is less than 50.

(2) The total number of people in the group who own both a fax machine and a laser printer is 15.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.
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On a recent trip, Mary drove 50 miles. What was the average speed at which she drove the 50 miles?

(1) She drove 30 miles at an average speed of 60 miles per hour and then drove the remaining 20 miles at an average speed of 50 miles per hour.

(2) She drove a total of 54 minutes.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.
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The inside of a rectangular carton is 48 centimeters long, 32 centimeters wide, and 15 centimeters high. The carton is filed to capacity with k identical cylindrical cans of fruit
that stand upright in rows and columns, as indicated in the figure above. If the cans are 15 centimeters high, what is the value of k ?

(1)Each of the cans has a radius of 4 centimeters.

(2)Six of the cans fit exactly along the length of the carton.

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient

Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient
EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient
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Is 471 = 8102

1) xy=9

1
@2=3

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
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EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient.
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Number Studying |  NumberNot | Total
Number 18
of Boys
Number

of Girls

Total 26

The table above shows the number of students in a certain high school class who are boys and the number of students in the class who are studying biology. What is the total
number of students in the class?

(1)Of the boys in the class, 15 are studying biology.

(2)The number of girls in the class is twice the number of students in the class who are not studying biology.
A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient.
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In the figure above, what is the value of x +y ?
(1)x =70
(2)2ABC and ~ADC are both isosceles triangles.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient.
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If k, m, and p are integers, is k - m - p odd?
(1)k and m are even and p is odd.

(2)k, m, and p are consecutive integers.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.
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If x, y, and z are positive integers, is x - y odd?
My = 22
2
@y =(2—1)
Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
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EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient.




image3.png
What is the value of integer n ?
(1)n(n+1)=6
(2)22" =16

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
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EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient.
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Two points, N and Q (not shown), lie to the right of point M on line £. What is the ratio of the length of QN to the length of MQ?
(1) Twice the length of MN is 3 times the length of MQ.
(2) Point Q is between points M and N.

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
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EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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If nis a positive integer, what is the tens digit of n ?
(1)The hundreds digit of 10n is 6.
(2)The tens digitof n + 1is 7.

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
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EACH statement ALONE is sufficient.
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Statements (1) and (2) TOGETHER are NOT sufficient.
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If nis an integer, is n even?
(1)n? — 1is an odd integer.

(2)3n + 4 is an even integer.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.




